A3Tan X3car

letsi asravi TooHA AypTai. TaHbl MaAax baviraawiaH asras T00 rafar Hb 6u41arTaa 36BxeH 4 60/10H 7 LUugbp aryynaar
700 toM. XKXnwaa Hb 47, 744, 4 T00Hyyn Hb asravi Too 6o 5, 17, 467 TO0HyyA a3ravi TOO OuLL oM.

MeTst "Gapar asTai TOO" rax siIMap Har a3Tail TOOHL YNAIrA3NrYIA XyBaarhar TOOr HIPNdX3a3p WHALX33. Tarean

ereraceH Too "6apar azTtai To0" 3CaXWIAr Wwanra.

Input

Opont raHy n (1 < n<1000) Too HaitHa.

Output

©reraceH n Too bapar asTait Too 6on "YES" acpar toxuonmong "NO" rax rapra.

Example

Input 1:
47
Output 1:
YES

Input 2:
16
Output 2:
YES

Input 3:
78
Output 3:

NO
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